

## D-PSEUDO SUPPLEMENTED ALMOST DISTRIBUTIVE LATTICES

JOGARAO GUNDA<sup>1</sup>, RAMESH SIRISETTI<sup>2</sup>, RAVIKUMAR BANDARU<sup>3</sup>, RAHUL SHUKLA<sup>4,\*</sup>

<sup>1</sup>Department of BS & H, Aditya Institute of Technology and Management, Tekkali, Srikakulam, Andhra Pradesh-530021, India

<sup>2</sup>Department of Mathematics, GITAM School of Science, GITAM (Deemed to be University), Visakhapatnam, Andhra Pradesh-530045, India

<sup>3</sup>Department of Mathematics, School of Advanced Sciences, VIT-AP University, Amaravati, Andhra Pradesh-522237, India

<sup>4</sup>Department of Mathematical Sciences and Computing, Walter Sisulu University, Mthatha 5117, South Africa

\*Corresponding author: rshukla@wsu.ac.za

Received Aug. 7, 2024

**ABSTRACT.** In this paper, we introduce D-pseudo supplementation and its dual on (almost distributive lattices) ADLs (with dense elements) which is a generalization of pseudo supplemented ADLs, we obtain some algebraic properties and characterize both using the set  $B_D(A) = \{a_1 \in L \mid \text{there exists } a_2 \in L \text{ such that } a_1 \wedge a_2 = 0 \text{ and } a_1 \vee a_2 \text{ is dense}\}$ , where  $A$  is an ADL with dense elements. Finally, we prove a one to one correspondence between D-pseudo supplemented ADLs (dual D-pseudo supplemented ADLs) and the class of principal ideals (sectionally intervals) in an ADL.

2020 Mathematics Subject Classification. Primary 06D99, Secondary 06D75.

Key words and phrases. almost distributive lattices; dense elements; ideals and pseudo-supplementation.

### 1. INTRODUCTION AND PRELIMINARIES

Frink [3] introduced the theory of pseudo-complements for semi lattices in 1962, and then Venkatarasimhan extended some of the results of [3] to posets in 1972. Later on several generalizations of distributive lattices were came into the picture. In this context, Swamy and Rao introduced a generalization of both lattices and as well as distributive lattices and named as an almost distributive lattice (ADL) [9] in 1981. An ADL is a common abstraction of most existing ring theoretic and lattice theoretic generalization of a distributive lattice which satisfies almost all conditions of a distributive lattice except right distributivity of  $\vee$  over  $\wedge$  and commutative with respect  $\vee$  &  $\wedge$ . A pseudo complementation [11] \* on an ADL  $A$  is a unary operation which satisfies

$$x \wedge y = 0 \Leftrightarrow x^* \wedge y = y.$$

$$(x \vee y)^* = x^* \wedge y^*,$$

for all  $x, y \in A$ . The authors proved that  $\{x^* | x \in A\}$  forms a Boolean algebra. Later, the authors [5] generalized the pseudo complementation on an ADL  $A$  (with maximal elements), using Birkhoff center [10]  $B$  (That is, given  $x \in A$ , there exists  $b \in B$  such that  $x \wedge b = b \Leftrightarrow x^* \wedge c = c$ , where  $c \in B$  and  $x \wedge c = c$ ) and then they derived a good number of algebraic properties on them. The existence of pseudo complemented almost distributive lattices and pseudo supplemented ADLs always depends upon maximal elements. This leads us to concentrate a class of ADLs (without maximal elements) and introduce a similar concept of pseudo complementation (pseudo supplementation). It is well known that, in an ADL, every maximal element is dense but not the converse. The (dense) class of elements in ADLs helps to introduce D-pseudo supplementation in which is a generalization of pseudo complementation (pseudo supplementation).

In the following, let us recall some of definitions and results of almost distributive lattice, which used in the sequel.

**Definition 1.1.** [9] An algebra  $(A, \wedge, \vee, 0)$  of type  $(2,2,0)$  which satisfies the following identities, is called as an *Almost Distributive Lattice* (abbreviated as ADL);

$$(i) \quad 0 \wedge a_1 = 0$$

$$(ii) \quad a_1 \vee 0 = a_1$$

$$(iii) \quad a_1 \wedge (a_2 \vee a_3) = (a_1 \wedge a_2) \vee (a_1 \wedge a_3)$$

$$(iv) \quad (a_1 \vee a_2) \wedge a_3 = (a_1 \wedge a_3) \vee (a_2 \wedge a_3)$$

$$(v) \quad a_1 \vee (a_2 \wedge a_3) = (a_1 \vee a_2) \wedge (a_1 \vee a_3)$$

$$(vi) \quad (a_1 \vee a_2) \wedge a_2 = a_2$$

for all  $a_1, a_2, a_3 \in A$ .

**Example 1.2.** [9] Let  $X$  be a non-empty set. Fix  $a_0 \in X$ . For any  $a_1, a_2 \in X$ , define,

$$a_1 \wedge a_2 = \begin{cases} a_0, & \text{if } a_1 = a_0 \\ a_2, & \text{if } a_1 \neq a_0 \end{cases} \quad \text{and} \quad a_1 \vee a_2 = \begin{cases} a_2, & \text{if } a_1 = a_0 \\ a_1, & \text{if } a_1 \neq a_0. \end{cases}$$

Then  $(X, \wedge, \vee, a_0)$  is an ADL in which  $a_0$  is the zero element. This ADL (called as discrete) is neither lattice nor distributive.

Given  $a_1, a_2 \in A$ , we say that  $a_1$  is less than or equal to  $a_2$  ( $a_1 \leq a_2$ ), provided  $a_1 \wedge a_2 = a_1$ , or equivalently,  $a_1 \vee a_2 = a_2$ . Then  $\leq$  forms a partial ordering on  $A$ .

**Theorem 1.3.** [9] For any  $a_1, a_2 \in A$ ,

$$(i) \quad a_1 \wedge 0 = 0 \text{ and } 0 \vee a_1 = a_1$$

- (ii)  $a_1 \wedge a_1 = a_1 \vee a_1 = a_1$
- (iii)  $a_1 \vee (a_2 \vee a_1) = a_1 \vee a_2 = (a_1 \vee a_2) \vee a_1$
- (iv)  $a_1 \wedge a_2 = 0 \Leftrightarrow a_2 \wedge a_1 = 0$
- (v)  $a_1 \wedge a_2 \leq a_2$  and  $a_1 \leq a_1 \vee a_2$
- (vi)  $a_1 \vee a_2 = a_2 \vee a_1 \Leftrightarrow a_1 \wedge a_2 = a_2 \wedge a_1$
- (vii)  $(a_1 \wedge a_2) \vee a_2 = a_2, a_1 \vee (a_1 \wedge a_2) = a_1$  and  $a_1 \wedge (a_1 \vee a_2) = a_1$
- (viii)  $a_1 \wedge a_2 = a_1 \Leftrightarrow a_1 \vee a_2 = a_2$
- (ix)  $a_1 \wedge a_2 = a_2 \Leftrightarrow a_1 \vee a_2 = a_1$
- (x)  $a_1 \wedge a_2 = a_2 \wedge a_1$ , whenever  $a_1 \leq a_2$ .

**Theorem 1.4.** [9] For any  $a_1, a_2, a_3 \in A$ ,

- (i)  $(a_1 \vee a_2) \wedge a_3 = (a_2 \vee a_1) \wedge a_3$
- (ii)  $\wedge$  is associative in  $A$
- (iii)  $a_1 \wedge a_2 \wedge a_3 = a_2 \wedge a_1 \wedge a_3$ .

If for each  $a_1, a_2 \in I$  and  $x \in A$ ,  $a_1 \vee a_2$ , and  $a_1 \wedge x \in I$ , then the non-empty subset  $I$  of  $A$  is said to be an ideal of  $A$ . Notably, for any  $a_1 \in A$ ,  $(a_1] = \{a_1 \wedge x \mid x \in A\}$  is the principal ideal generated by  $a_1$ . The set  $\mathcal{I}(A)$  ideals of  $A$  forms a bounded distributive lattice, where  $I \cap J$  is the infimum and  $I \vee J = \{i \vee j \mid i \in I \text{ and } j \in J\}$  is the supremum of  $I$  and  $J$  in  $\mathcal{I}(A)$ . The set  $\mathcal{PI}(A)$  principal ideals of  $A$  form a sublattice of  $\mathcal{I}(A)$ , where  $(a_1] \wedge (a_2] = (a_1 \wedge a_2]$  and  $(a_1] \vee (a_2] = (a_1 \vee a_2]$ , for any  $a_1, a_2 \in A$ . A non-empty subset  $F$  of  $A$  is called a filter of  $A$ , if for any  $a_1, a_2 \in F$  and  $x \in A$ ,  $a_1 \wedge a_2, x \vee a_1 \in F$ .

Given a non-empty subset  $S$  of  $A$ , the set  $S^* = \{a_1 \in A \mid a_1 \wedge x = 0, \text{ for all } x \in S\}$  is an ideal of  $A$ . Especially, for any  $a_1 \in A$ ,  $\{a_1\}^* = (a_1)^*$ , where  $(a_1) = (a_1]$  is the principal ideal generated by  $a_1$ .

**Lemma 1.5.** [6] For any  $a_1, a_2 \in A$ ,

- (i)  $a_1 \leq a_2$  implies  $(a_2)^* \subseteq (a_1)^*$
- (ii)  $(a_1 \vee a_2)^* = (a_1)^* \cap (a_2)^*$
- (iii)  $(a_1 \wedge a_2)^{**} = (a_1)^{**} \cap (a_2)^{**}$ .

An element  $d \in A$  is called dense [7], if  $(d)^* = \{0\}$ . The set  $D$  denotes the set of dense elements in  $A$ . An element  $m \in A$  is called maximal [9], if for any  $a_1 \in A$ ,  $m \leq a_1$  implies  $m = a_1$ . It is easy to observe that every maximal element is dense but not the converse.

**Theorem 1.6.** [9] For any  $m \in A$ , the following are equivalent;

- (i)  $m$  is maximal
- (ii)  $m \wedge x = x$ , for all  $x \in A$
- (iii)  $m \vee x = m$ , for all  $x \in A$ .

**Definition 1.7.** [9] A non-empty subset  $S$  of  $A$  is called a subADL of  $A$ , if it is closed under  $\wedge, \vee$  and  $S$  contains zero element.

**Definition 1.8.** [5] Let  $A$  be an ADL with maximal element  $m$  and Birkhoff center  $B(A)$ .  $A$  is said to be pseudo-supplemented ADL if for each  $x \in A$ , there exists  $a_1 \in B(A)$  such that  $x \wedge a_1 = a_1$  and if  $a_2 \in B(A)$  and  $x \wedge a_2 = a_2$ , then  $a_1 \wedge a_2 = a_2$ .

**Theorem 1.9.** [4] Let  $A$  be an ADL with dense elements and  $D$  is the set of dense elements in  $A$ . Then the set  $B_D(A) = \{a_1 \in L \mid \text{there exists } a_2 \in L \text{ such that } a_1 \wedge a_2 = 0 \text{ and } a_1 \vee a_2 \text{ is dense}\}$  a weakly relatively complemented sub-ADL of  $A$ .

## 2. D-PSEUDO SUPPLEMENTED ADLS

In this section, we introduce a D-pseudo-supplemented almost distributive lattice which is a generalization of a pseudo-supplemented almost distributive lattice using the set  $B_D(A) = \{a_1 \in L \mid \text{there exists } a_2 \in L \text{ such that } a_1 \wedge a_2 = 0 \text{ and } a_1 \vee a_2 \text{ is maximal}\}$ , where  $A$  is an almost distributive lattice with dense elements. We prove several algebraic properties on D-pseudo supplemented almost distributive lattices. We obtain a necessary and sufficient conditions for an almost distributive lattice with dense elements to become a D-pseudo-supplemented almost distributive lattice.

**Definition 2.1.**  $A$  is said to be a D-pseudo supplemented ADL, if for any  $x \in A$ , there exists  $a_1 \in B_D(A)$  such that

$$S_1 : x \wedge a_1 = a_1,$$

$$S_2 : \text{If } a_2 \in B_D(A) \text{ and } x \wedge a_2 = a_2, \text{ then } a_1 \wedge a_2 = a_2.$$

**Lemma 2.2.** Given  $x \in A$ , there exist  $a_1, a_2 \in B_D(A)$  which satisfies  $S_1$  and  $S_2$  in the Definition 2.1, then  $a_1 \wedge a = a_2 \wedge a$ , for all  $a \in A$ .

*Proof.* Let  $x \in A$  and  $a_1, a_2 \in B_D(A)$  (satisfy both  $S_1$  and  $S_2$ ). Then  $x \wedge a_1 = a_1$  and  $x \wedge a_2 = a_2$ . By  $S_2$ ,  $a_1 \wedge a_2 = a_2$  and  $a_2 \wedge a_1 = a_1$ . For any  $a \in A$ ,  $a_1 \wedge a = a_2 \wedge a_1 \wedge a = a_1 \wedge a_2 \wedge a = a_2 \wedge a$ .  $\square$

In the Lemma 2.2., the existence of elements in  $B_D(A)$  may not be unique. But if we fix an element  $d \in D$ , then it is unique (in  $B_D(L)$ ) and in the form  $a_1 \wedge d$ . It is denoted by  $x^d (= a_1 \wedge d)$  and called as the D-pseudo supplement of  $x$ ,

**Lemma 2.3.** Let  $A$  be a D-pseudo supplemented ADL and  $x \in A$ . Then we have

$$(i) \quad x \wedge x^d = x^d$$

$$(ii) \quad a_1 \wedge x^d = x^d \text{ and } x^d \wedge a_1 = d \wedge a_1$$

$$(iii) \quad \text{If } a_2 \in B_D(A) \text{ and } x \wedge a_2 = a_2, \text{ then } x^d \wedge a_2 = d \wedge a_2 \text{ and } a_2 \wedge x^d = a_2 \wedge d, \text{ for all } d \in D.$$

*Proof.* Let  $x \in A$ . Then there exists  $a_1 \in B_D(A)$  satisfying  $x \wedge a_1 = a_1$  and if  $a_2 \in B_D$  such that  $x \wedge a_2 = a_2$ , then  $a_1 \wedge a_2 = a_2$ . Therefore  $x^d = a_1 \wedge d$ , for any  $d \in D$ . Now,

(i)  $x \wedge x^d = x \wedge (a_1 \wedge d) = (x \wedge a_1) \wedge d = a_1 \wedge d = x^d$ .

(ii)  $a_1 \wedge x^d = a_1 \wedge (a_1 \wedge d) = a_1 \wedge d = x^d$  and  $x^d \wedge a_1 = (a_1 \wedge d) \wedge a_1 = (d \wedge a_1) \wedge a_1 = d \wedge a_1$ .

(iii) If  $a_2 \in B_D(A)$  and  $x \wedge a_2 = a_2$ , then  $a_1 \wedge a_2 = a_2$ . Therefore  $x^d \wedge a_2 = a_1 \wedge d \wedge a_2 = d \wedge a_1 \wedge a_2 = d \wedge a_2$  and  $a_2 \wedge x^d = a_2 \wedge (a_1 \wedge d) = a_1 \wedge a_2 \wedge d = a_2 \wedge d$ .  $\square$

**Lemma 2.4.** Let  $A$  be a  $D$ -pseudo supplemented ADL and  $x, y \in A$ . Then, we have

(i)  $x \vee x^d = x$

(ii)  $0^d = 0$

(iii)  $x \wedge d = d \Leftrightarrow x^d = d$ , for all  $d \in D$

(iv)  $x \wedge m = m \Rightarrow x^d = d$ , for any maximal element  $m$  in  $A$

(v)  $m^d = d$ , for any maximal element  $m$  in  $A$

(vi)  $x \in B_D(A) \Rightarrow x^d = x \wedge d$

(vii)  $x^{dd} = x^d$

(viii)  $y \wedge x = x \Rightarrow y^d \wedge x^d = x^d$ .

*Proof.* Let  $x \in A$ . Then there exists  $a_1 \in B_D(A)$  such that  $x \wedge a_1 = a_1$  and if  $x \wedge a_2 = a_2$ , then  $a_1 \wedge a_2 = a_2$ , for some  $a_2 \in A$ .

(i) By the above lemma,  $x \wedge x^d = x^d$  for all  $x \in A$ , Therefore  $x \vee x^d = x$ .

(ii) From (i),  $0 \vee 0^d = 0$ . Therefore  $0^d = 0$ .

(iii) Suppose  $x \wedge d = d$ . Then  $a_1 \wedge d = d$  (by Definition 2.1.). Therefore  $x^d = d$ . Conversely suppose that  $x^d = d$ . Then  $x \wedge d = x \wedge x^d = x^d = d$ .

(iv) Suppose  $x \wedge m = m$ . Then  $a_1 \wedge m = m$ . Now,  $x^d = a_1 \wedge d = (a_1 \vee m) \wedge d = (a_1 \wedge d) \vee (m \wedge d) = (a_1 \wedge d) \vee d = d$ . Therefore  $x^d = d$ .

(v) Let  $m$  be a maximal element in  $A$ . Then there exists  $a_m \in B_D(A)$  such that  $m^d = a_m \wedge d$ . Since  $m \wedge x = x$  for all  $x \in A$ ,  $m \wedge d = d$ . By Definition 2.1.,  $a_m \wedge d = d$ . Hence  $m^d = a_m \wedge d = d$ .

(vi) We know that  $x \wedge x^d = x^d$  and  $x \wedge x = x$ , for all  $x \in A$ . If  $x \in B_D(A)$ . Then  $a_1 \wedge x = x$  (by Definition 2.1.). Now,  $x^d = a_1 \wedge d = x \wedge a_1 \wedge d = a_1 \wedge x \wedge d = x \wedge d$ . Hence  $x^d = a_1 \wedge d = x \wedge d$ .

(vii) We know that  $x^d \in B_D(A)$  for all  $x \in A$ . Therefore  $x^{dd} = (x^d)^d = x^d \wedge d = a_1 \wedge d \wedge d = a_1 \wedge d = x^d$  (by (vi)).

(viii) If  $y \wedge x = x$ , then  $y \wedge x^d = y \wedge x \wedge x^d = x \wedge x^d = x^d$ . Since  $x^d \in B_D(A)$  and  $y \wedge x^d = x^d$ ,  $y^d \wedge x^d = d \wedge x^d = d \wedge a_1 \wedge d = a_1 \wedge d = x^d$  (by Lemma 2.3(iii)).  $\square$

**Theorem 2.5.** Given elements  $x, y$  in a  $D$ -pseudo supplemented ADL  $A$ , we have

(i)  $x^d \wedge y^d = y^d \wedge x^d$

(ii)  $x^d \vee y^d = y^d \vee x^d$

- (iii)  $(x \wedge y)^d = x^d \wedge y^d$
- (iv)  $(x \wedge y)^d = (y \wedge x)^d$
- (v)  $x^d \vee y^d \leq (x \vee y)^d$
- (vi)  $(x \vee y)^d = (y \vee x)^d$
- (vii)  $(x \wedge m)^d = x^d$ .

*Proof.* Let  $x, y \in A$ . Then there exist  $a_1, a' \in B_D(A)$  such that  $x^d = a_1 \wedge d$  and  $y^d = a' \wedge d$ .

- (i)  $x^d \wedge y^d = a_1 \wedge d \wedge a' \wedge d = a' \wedge d \wedge a_1 \wedge d = y^d \wedge x^d$ .
- (ii)  $x^d \vee y^d = (a_1 \wedge d) \vee (a' \wedge d) = (a_1 \vee a') \wedge d = (a' \vee a) \wedge d = (a' \wedge d) \vee (a_1 \wedge d) = y^d \vee x^d$ .
- (iii) Let  $x, y \in A$ . Then  $(x \wedge y) \wedge (x^d \wedge y^d) = (x \wedge x^d) \wedge (y \wedge y^d) = x^d \wedge y^d$  and  $x^d \wedge y^d \in B_D(A)$ . By Lemma 2.3.(iii),  $x^d \wedge y^d \wedge (x \wedge y)^d = x^d \wedge y^d \wedge d = x^d \wedge a' \wedge d \wedge d = x^d \wedge a' \wedge d = x^d \wedge y^d$ , where  $y^d = a' \wedge d$ . Therefore  $x^d \wedge y^d \leq (x \wedge y)^d$ . We know that  $x \wedge (x \wedge y) = x \wedge y$ . By Lemma 2.4.(viii),  $x^d \wedge (x \wedge y)^d = (x \wedge y)^d$ . Therefore  $(x \wedge y)^d \wedge x^d = (x \wedge y)^d$ . Hence  $(x \wedge y)^d \leq x^d$ . Similarly we can prove  $(x \wedge y)^d \leq y^d$ . Now,  $(x \wedge y)^d \wedge x^d \wedge y^d = (x \wedge y)^d \wedge y^d = (x \wedge y)^d$ . Therefore  $(x \wedge y)^d \leq x^d \wedge y^d$ . Hence  $(x \wedge y)^d = x^d \wedge y^d$ .
- (iv) From (i) and (iii), we can observe this property.
- (v) Let  $x, y \in A$ . Then we have  $x^d, y^d \in B_D(A)$ . Now,  $(x^d \vee y^d) \wedge (x \vee y)^d = [x^d \wedge (x \vee y)^d] \vee [y^d \wedge (x \vee y)^d] = [x \wedge (x \vee y)]^d \vee [y \wedge (x \vee y)]^d = x^d \vee [(x \vee y) \wedge y]^d = x^d \vee y^d$ . Therefore  $x^d \vee y^d \leq (x \vee y)^d$ .
- (vi)  $(y \vee x)^d \wedge (x \vee y)^d = (y \vee x)^d \wedge (y \vee x)^d = (y \vee x)^d$ . Then  $(y \vee x)^d \leq (x \vee y)^d$ . Similarly we can prove  $(x \vee y)^d \leq (y \vee x)^d$ . Hence  $(x \vee y)^d = (y \vee x)^d$ .
- (vii)  $(x \wedge m)^d = (m \wedge x)^d = x^d$ . □

**Theorem 2.6.** Let  $A$  be a  $D$ -pseudo supplemented ADL. Then for any dense element  $d$  in  $A$ ,  $[0, d]$  is a  $D$ -pseudo supplemented lattice.

*Proof.* Suppose that  $A$  is  $D$ -pseudo supplemented ADL and  $d$  be a dense element in  $A$ . Let  $x \in [0, d]$ . Then there exists  $a_1 \in B_D(A)$  such that  $S_1 : x \wedge a_1 = a_1$  and  $S_2 : \text{If } a_2 \in B_D(A) \text{ such that } x \wedge a_2 = a_2$ , then  $a_1 \wedge a_2 = a_2$ . Define  $x^d = a_1 \wedge d$ . For  $a_1 \in B_D(A)$ , there exists  $c \in A$  such that  $a_1 \wedge c = 0$  and  $a_1 \vee c$  is dense. Then  $c \wedge d \wedge x^d = (c \wedge d) \wedge (a_1 \wedge d) = (a_1 \wedge c) \wedge d = 0$  and  $(c \wedge d) \vee x^d = (c \wedge d) \vee (a_1 \wedge d) = (c \vee a_1) \wedge d = (a_1 \vee c) \wedge d$  is dense in  $[0, d]$ . Therefore  $x^d \in B_D([0, d])$ . Now,  $x \wedge x^d = x \wedge a_1 \wedge d = a_1 \wedge d = x^d$ . Let  $y \in B_D([0, d])$  such that  $x \wedge y = y$ . We have  $y \in B_D([0, d]) \subseteq B_D(A)$  and have  $x \wedge y = y$ . Now,  $x^d \wedge y = a_1 \wedge d \wedge y = d \wedge a_1 \wedge y = d \wedge y = y$ . Therefore  $[0, d]$  is  $D$ -pseudo supplemented lattice. □

The converse of above Theorem 2.6. is discussed as follows.

**Theorem 2.7.** Let  $A$  be an ADL in which every dense element is maximal and  $d$  is dense. If  $[0, d]$  is  $D$ -pseudo supplemented lattice, then  $A$  is a  $D$ -pseudo supplemented ADL.

*Proof.* Suppose that  $[0, d]$  is a D-pseudo supplemented lattice in which every D-pseudo supplement of  $x$  is denoted by  $x^d$ . Let  $x \in A$ . Then  $x \wedge d \in [0, d]$ . Take  $a_1 = (x \wedge d)^d$ . Then  $a_1 \in B_D([0, d]) \subseteq B_D(A)$ . Now,  $x \wedge a_1 = x \wedge d \wedge a_1 = x \wedge d \wedge a_1 \wedge a_1 = (x \wedge d \wedge a_1) \wedge (x \wedge d)^d = a_1 \wedge (x \wedge d) \wedge (x \wedge d)^d = a_1 \wedge (x \wedge d)^d = a_1$  (since  $a_1 \in [0, d]$ ). Let  $a_2 \in B_D(A)$  such that  $x \wedge a_2 = a_2$ . Then  $a_2 \wedge d \in B_D([0, d])$  and  $x \wedge a_2 \wedge d = a_2 \wedge d$ . Therefore  $(x \wedge d) \wedge (a_2 \wedge d) = a_2 \wedge d$ . Since  $a_2 \wedge d \in B_D([0, d])$ ,  $(a_2 \wedge d) \wedge (x \wedge d)^d = (a_2 \wedge d) \wedge d = a_2 \wedge d$  (by Lemma 2.3(iii)). So that  $a_2 \wedge d \leq a_1$ . Hence  $a_1 \wedge a_2 \wedge d = a_2 \wedge d$ . Now,  $a_1 \wedge a_2 = a_1 \wedge a_2 \wedge a_2 = a_1 \wedge a_2 \wedge d \wedge a_2 = a_2 \wedge d \wedge a_2 = d \wedge a_2 = a_2$  (Since every dense element is maximal). Therefore  $A$  is D-pseudo supplemented ADL.  $\square$

**Remark 2.8.** If  $a_1 \in B_D([0, m])$ , then  $a_1 = a_2 \wedge m$ , for some  $a_2 \in B_D([0, m])$ . Since  $B_D([0, m]) \subseteq B_D(A)$ ,  $a_1 \in B_D(A)$ . By Lemma 2.4(vi),  $a_1^m = a_1 \wedge m = a_2 \wedge m \wedge m = a_2 \wedge m = a_1$ . Hence  $B_D([0, m]) = \{x^m \mid x \in A\}$ .

**Theorem 2.9.** Let  $A$  be an ADL with dense elements and  $B_D(A)$  is the dense center. Then  $A$  is a D-pseudo supplemented ADL if and only if  $PI(A)$  is a D-pseudo supplemented lattice.

*Proof.* Suppose that  $A$  is D-pseudo supplemented ADL. Then for any  $x \in A$ , there exists  $x^d \in A$  such that  $x^d = a_1 \wedge d$  (by Lemma 2.2.).

For this  $x \in A$ , we can define  $(x]^d = (x^d]$ . Since  $x^d \in B_D(A)$ , there exists  $y \in A$  such that  $x^d \wedge y = 0$  and  $x^d \vee y$  is dense. Therefore  $(x^d] \wedge (y] = (x^d \wedge y) = (0]$  and  $(x^d] \vee (y] = (x^d \vee y)$  is an ideal generated by a dense element  $x^d \vee y$ . So that  $(x^d] \in B_D(PI(A))$ . Now,  $(x] \wedge (x^d] = (x \wedge x^d) = (x^d]$  and hence  $(x^d] = (x]^d \subseteq (x]$ . Let  $(a_1] \in B_D(PI(A))$  such that  $(a_1] \subseteq (x]$ . For this  $(a_1] \in B_D(PI(A))$ , there exists  $(a_2] \in PI(A)$  such that  $(a_1] \wedge (a_2] = (a_1 \wedge a_2) = (0]$  and  $(a_1] \vee (a_2] = (a_1 \vee a_2]$  is a principal ideal generated by a dense element  $a_1 \vee a_2$ . Therefore  $a_1 \wedge a_2 = 0$  and  $a_1 \vee a_2$  is dense and hence  $a_1 \in B_D(A)$  and  $x \wedge a_1 = a_1$ . So that  $x^d \wedge a_1 = a_1$ . Now  $(x^d \wedge a_1] = (x^d] \wedge (a_1] = (x]^d \wedge (a_1] = (a_1]$ . Hence  $(a_1] \subseteq (x]^d$ . Thus  $PI(A)$  is a D-pseudo supplemented lattice. Conversely suppose that  $PI(A)$  is D-pseudo supplemented lattice. For any  $x \in A$ ,  $(x]^d \in B(PI(A))$ . Take  $(x]^d = (a_1]$ , for some  $a_1 \in A$  and also  $a_1 \in B_D(A)$ . Then  $(a_1] \subseteq (x]$ . So that  $a_1 \in (x]$  and hence  $x \wedge a_1 = a_1$ . Let  $a_2 \in B_D$  such that  $x \wedge a_2 = a_2$ . Then  $(a_2] \in B_D(PI(A))$  and  $(x] \wedge (a_2] = (a_2]$ . Therefore  $(a_2] \subseteq (x]$ . So that  $(a_2] \subseteq (x]^d$ . That is  $(a_2] \subseteq (a_1]$ . Hence  $a_1 \wedge a_2 = a_2$ . Thus  $A$  is D-pseudo supplemented ADL.  $\square$

### 3. DUAL D-PSEUDO SUPPLEMENTED ADLS

In this section we discuss the dual of a D-pseudo supplementation and then D-pseud-supplemented ADLs. We prove a good number of algebraic properties and necessary conditions on them

**Definition 3.1.** Let  $A$  be an ADL with dense elements and  $B_D(A)$  is the dense center.  $A$  is said to be a dual D-pseudo supplemented ADL, if for each  $x \in A$ , there exists an element  $a_1 \in B_D(A)$  such that

$$PS_1 : a_1 \wedge x = x,$$

$$PS_2 : \text{If } a_2 \in B_D(A) \text{ such that } a_2 \wedge x = x, \text{ then } a_2 \wedge a_1 = a_1.$$

**Lemma 3.2.** *Let  $x \in A$  and  $a_1, a_2 \in B_D(A)$  satisfying  $PS_1$  and  $PS_2$  in the Definition 3.1. Then  $a_1 \wedge d = a_2 \wedge d$ , for all  $d \in D$ .*

**Lemma 3.3.** *For any  $x \in A$ , there exists a unique  $a_1 \in B_D(A)$  such that  ${}^d x = a_1 \wedge d \in B_D(A)$ , for all  $d \in D$ .*

*Proof.* By the Lemma 3.2., for any  $x \in A$ , there exists a unique  $a_1 \in B_D(A)$  such that  ${}^d x = a_1 \wedge d$ , for all  $d \in D$ . For this  $a_1 \in B_D(A)$ , there exists  $a_2 \in A$  such that  $a_1 \wedge a_2 = 0$  and  $a_1 \vee a_2$  is dense. Now  $a_2 \wedge {}^d x = a_2 \wedge a_1 \wedge d = 0$  and  $a_2 \vee {}^d x = a_2 \vee (a_1 \wedge d) = (a_2 \vee a_1) \wedge (a_2 \vee d)$  is dense in  $A$ . Therefore  ${}^d x \in B_D(A)$ .  $\square$

**Lemma 3.4.** *For any  $x \in A$ ,*

$$(i) \quad {}^d x \wedge x = x$$

$$(ii) \quad \text{If } a_2 \in B_D(A) \text{ such that } a_2 \wedge x = x, \text{ then } a_2 \wedge {}^d x = {}^d x$$

$$(iii) \quad {}^d x \wedge m = {}^d x, \text{ for all maximal elements } m \in A.$$

**Theorem 3.5.** *For any  $x, y \in A$  and  $a_1 \in B_D(A)$ ,*

$$(i) \quad {}^d x \vee x = {}^d x$$

$$(ii) \quad {}^d m = m, \text{ for any maximal element } m \in A$$

$$(iii) \quad {}^d 0 = 0$$

$$(iv) \quad a_1 \in B_D(A), \text{ then } {}^d a_1 = a_1 \wedge d$$

$$(v) \quad {}^d x = {}^{dd} x$$

$$(vi) \quad \text{If } y \wedge x = x, \text{ then } {}^d y \wedge {}^d x = {}^d x. \text{ Hence } {}^d x \leq {}^d y.$$

*Proof.* Let  $x, y \in A$  and  $a_1 \in B_D(A)$ .

$$(i) \quad \text{By the Lemma 3.2, } {}^d x \wedge x = x, \text{ therefore } {}^d x \vee x = {}^d x.$$

$$(ii) \quad \text{Let } m \text{ be a maximal element in } A. \text{ Then } {}^d m = a_1 \wedge d, \text{ for any } d \in D. \text{ By the Definition 3.1, } {}^d m = a_1 \wedge m \text{ and } a_1 \wedge m = m \text{ (since } m \text{ is dense). Therefore } {}^d m = m.$$

$$(iii) \quad \text{Since } 0 \in B_D(A) \text{ and } 0 \wedge 0 = 0. \text{ By Lemma 4.2, we get } 0 \wedge {}^d 0 = {}^d 0. \text{ Therefore } {}^d 0 = 0.$$

$$(iv) \quad \text{For any } a_1 \in A, \text{ we have that } {}^d a_1 = x \wedge d, \text{ where } d \in D \text{ and } x \wedge a_1 = a_1. \text{ Since } a_1 \wedge a_1 = a_1, a_1 \wedge x = x. \text{ Therefore } {}^d a_1 = x \wedge d = a_1 \wedge x \wedge d = x \wedge a_1 \wedge d = a_1 \wedge d.$$

$$(v) \quad \text{Since } {}^d x \in B_D(A), \text{ by (iv) } {}^{dd} x = {}^d x \wedge m = {}^d x.$$

$$(vi) \quad \text{Suppose that } y \wedge x = x. \text{ Then } {}^d y \wedge y \wedge x = y \wedge x = x. \text{ Then } {}^d y \wedge x = x. \text{ Since } {}^d y \in B_D(A), {}^d y \wedge {}^d x = {}^d x. \quad \square$$

**Theorem 3.6.** *For any  $x, y \in A$ ,*

$$(i) \quad {}^d(x \vee y) = {}^d x \vee {}^d y$$



- (ii)  ${}^d(x \vee y) = {}^d(y \vee x)$
- (iii)  ${}^d x \wedge {}^d y \leq {}^d(x \wedge y)$
- (iv)  ${}^d(x \wedge y) = {}^d(y \wedge x)$
- (v)  ${}^d(x \wedge m) = {}^d x$ .

*Proof.* (i) Let  $x, y \in A$ . Then  ${}^d x, {}^d y \in B_D(A)$ . Since  $B_D(A)$  is a subADL,  ${}^d x \vee {}^d y \in B_D(A)$ . Now,  $({}^d x \vee {}^d y) \wedge (x \vee y) = [({}^d x \vee {}^d y) \wedge x] \vee [({}^d x \vee {}^d y) \wedge y] = [({}^d x \wedge x) \vee ({}^d y \wedge x)] \vee [({}^d x \wedge y) \vee ({}^d y \wedge y)] = [x \vee ({}^d y \wedge x)] \vee [({}^d x \wedge y) \vee y] = x \vee y$ . Therefore  $({}^d x \vee {}^d y) \wedge {}^d(x \vee y) = {}^d(x \vee y)$ . Since  $x = (x \vee y) \wedge x$  and  $y = (x \vee y) \wedge y$ , by the Theorem 3.5 (vi),  ${}^d x \leq {}^d(x \vee y)$  and  ${}^d y \leq {}^d(x \vee y)$ . Therefore  ${}^d x \vee {}^d y \leq {}^d(x \vee y)$ . Hence  ${}^d x \vee {}^d y = {}^d(x \vee y)$ .

(ii) Let  ${}^d(x \vee y) = {}^d x \vee {}^d y = (a_1 \wedge d) \vee (a_2 \wedge d) = (a_1 \vee a_2) \wedge d = (a_2 \vee a_1) \wedge d = (a_2 \wedge d) \vee (a_1 \wedge d) = {}^d y \vee {}^d x = {}^d(y \vee x)$ , for any  $d \in D$ .

(iii) Since  $x \wedge (x \wedge y) = x \wedge y$ . By the Theorem 3.5(vi),  ${}^d(x \wedge y) \leq {}^d x$ . Similarly we can write  $y \wedge (x \wedge y) = x \wedge y$ . Therefore  ${}^d(x \wedge y) \leq {}^d y$ . Hence  ${}^d(x \wedge y) \leq {}^d x \wedge {}^d y$ .

(iv) We can write  $(x \wedge y) \wedge (y \wedge x) = y \wedge x$ . Then we get  $(y \wedge x)^d \leq (x \wedge y)^d$ . Now,  $(y \wedge x) \wedge (x \wedge y) = x \wedge y$ . Hence by the Theorem 3.1(vi), we get  ${}^d(x \wedge y) \leq {}^d(y \wedge x)$ . Then  ${}^d(x \wedge y) = {}^d(y \wedge x)$ .

(v) For any  $x \in A$ ,  $(x \wedge m)^d = (m \wedge x)^d = x^d$  (By(iv)). □

**Theorem 3.7.** *If  $A$  is a dual D-pseudo supplemented ADL, then  $[0, d]$  is dual D-pseudo supplemented lattice.*

*Proof.* Suppose that  $A$  is a dual D-pseudo supplemented ADL with dense element  $d$ . Let  $x \in [0, d]$ . Then there exists  $a_1 \in B_D(A)$  such that  $a_1 \wedge x = x$  and if  $a_2 \in B_D(A)$  such that  $a_2 \wedge x = a_2$ , then  $a_2 \wedge a_1 = a_1$ . Define  ${}^d x = a_1 \wedge d$ . Then  ${}^d x \in B_D([0, d])$ . For any  $a_1 \in B_D(A)$ , there exists  $c \in A$  such that  $a_1 \wedge c = 0$  and  $a_1 \vee c$  is dense. Then  $(c \wedge d) \wedge {}^d x = (c \wedge d) \wedge (a_1 \wedge d) = (c \wedge a_1) \wedge d = 0$  and  $(c \wedge d) \vee {}^d x = (c \wedge d) \vee (a_1 \wedge d) = (c \vee a_1) \wedge d$  is also dense. Since  $c \wedge d, a_1 \wedge d \in [0, d]$ ,  ${}^d x \in B_D([0, d])$ . Since  ${}^d x \wedge x = x$ ,  $x \leq {}^d x$ . Take  $a_1 \in B_D([0, d])$  such that  $a_1 \wedge x = x$ . Since  $a_1 \in [0, d]$ ,  $a_1 = a_2 \wedge d$ , for some  $a_2 \in B_D(A)$ . Therefore  $a_2 \wedge x = a_2 \wedge d \wedge x = a_1 \wedge x = x$  (since  $x \in [0, d]$ ). We get  $a_2 \wedge {}^d x = {}^d x$ . Therefore  $a_1 \wedge {}^d x = a_2 \wedge d \wedge {}^d x = a_2 \wedge {}^d x = {}^d x$  (since  ${}^d x \in [0, d]$ ). Hence  $a \leq {}^d x$ . Thus  $[0, d]$  is a dual D-pseudo supplemented lattice. □

**Corollary 3.8.** *Let  $A$  be an ADL in which every dense element  $d$  is maximal. If  $[0, d]$  is dual D-pseudo supplemented lattice, then  $A$  be a dual D-pseudo supplemented ADL.*

*Proof.* For any  $x \in [0, d]$ , dual D-pseudo supplement of  $x$  is denoted by  ${}^d x$ . For any  $y \in A$ . Define  $y^* = {}^d(y \wedge d)$ . We have  $y \wedge d < y^*$ . Therefore  $y \wedge d = y^* \wedge y \wedge d$ . Since every dense element is maximal,  $y = y^* \wedge y$ . Let  $a_1 \in B_D(A)$  such that  $a_1 \wedge y = y$ . Then  $a_1 \wedge d \in B_D([0, d])$ . Therefore  $a_1 \wedge d \wedge y \wedge d = a_1 \wedge y \wedge d = y \wedge d$ . So that  $a_1 \wedge d \geq y \wedge d$ . Hence  $a_1 \wedge d > y^*$ . Now  $a_1 \wedge y^* = a_1 \wedge d \wedge y^* = y^*$  (since every

dense is maximal). Hence  $A$  is dual pseudo supplemented ADL. The converse of the above theorem is true when ever every dense element is maximal.  $\square$

**Theorem 3.9.** *A is a dual D-pseudo supplemented ADL if and only if  $PI(A)$  is a dual D-pseudo supplemented lattice.*

*Proof.* Suppose that  $A$  is dual D-pseudo supplemented ADL. Let  $x \in A$ . Define  ${}^d(x) = ({}^d x]$ . Since  ${}^d x \in B_D(A)$  there exists  $y \in A$  such that  ${}^d x \wedge y = 0$  and  ${}^d x \vee y$  is dense. Therefore  $({}^d x] \wedge (y) = ({}^d x \wedge y) = (0]$  and  $({}^d x \vee y) = ({}^d x] \vee (y)$  is a principal ideal generated by a dense element  ${}^d x \vee y$ . So that  $({}^d x) \in B_D PI(A)$ . Now,  $({}^d x] \wedge (x) = ({}^d x \wedge x) = (x]$ . Therefore  $(x) \leq ({}^d x]$ . Let  $(a_1] \in B_D PI(A)$  such that  $(x) \subseteq (a_1]$ . For  $(a_1] \in B_D PI(A)$ , there exists  $(a_2] \in PI(A)$  such that  $(a_1] \wedge (a_2] = (0]$  and  $(a_1] \vee (a_2]$  is a principal ideal generated by a dense element  $a_1 \vee a_2$ . Therefore  $a_1 \wedge a_2 = 0$  and  $a_1 \vee a_2$  is dense. So that  $a_1 \in B_D$  and  $a_1 \wedge x = x$ . So that  $a_1 \wedge {}^d x = {}^d x$ . Now,  $(a_1 \wedge {}^d x) = (a_1] \wedge ({}^d x) = ({}^d x]$ . Hence  $({}^d x) \subseteq (a_1]$  has  $PI(A)$  is a dual D-pseudo supplemented lattice.

Conversely suppose that  $PI(A)$  is dual D-pseudo supplemented lattice. For any  $x \in A$ ,  ${}^d(x) \in B_D PI(A)$ . Take  ${}^d(x) = (a_1]$ , for some  $a_1 \in A$  and  $a_1 \in B_D(A)$ . Then  $(x) \subseteq (a_1]$ . So that  $x \in (a_1]$  and hence  $a_1 \wedge x = x$ . Let  $a_2 \in B_D(A)$  such that  $a_2 \wedge x = x$ . Then  $(a_2] \in B_D PI(A)$  and  $(a_2] \wedge (x) = (x]$ . Therefore  $(x) \subseteq (a_2]$ . So that  $({}^d x) = (a_1] \subseteq (a_2]$ . We get  $a_2 \wedge a_1 = a_1$ . Hence  $A$  is dual D-pseudo supplemented ADL.  $\square$

#### 4. CONCLUSIONS AND FUTURE WORK

We define D-pseudo supplementation (D-pseudo supplemented ADLs) which is a generalization of pseudo supplementation (pseudo supplemented ADLs) and characterized in terms of weakly relatively complemented ADLs and dense center.

The study of class of D-pseudo complementation as a key role in the class of ADLs in which there is no maximal element. We wish to work on this D-pseudo complementation on stone ADLs.

#### AUTHORS CONTRIBUTIONS

All authors have read and approved the final version of the manuscript. The authors contributed equally to this work.

#### FUNDING INFORMATION

This work was supported by Directorate of Research and Innovation, Walter Sisulu University.

#### CONFLICTS OF INTEREST

The authors declare that there are no conflicts of interest regarding the publication of this paper.

## REFERENCES

- [1] G. Birkhoff, *Lattice theory*, American Mathematical Society, Providence, 1967.
- [2] S. Burris, H.P. Sankappanavar, *A course in universal algebra*, Springer, New York, 1981.
- [3] O. Frink, Pseudo-complements in semi-lattices, *Duke Math. J.* 29 (1962), 505–514. <https://doi.org/10.1215/S0012-7094-62-02951-4>.
- [4] R. Sirisetti, G. Jogarao, Weak relatively complemented almost distributive lattices, *Palestine J. Math.* 6 (2017), 448457.
- [5] G.C. Rao, N.K. Kakumanu, Pseudo-supplemented almost distributive lattices, *Southeast Asian Bull. Math.* 37 (2013), 131–138.
- [6] G.C. Rao, M.S. Rao, Annihilator ideals in almost distributive lattices, *Int. Math. Forum.* 4 (2009), 733–746.
- [7] G.C. Rao, G.N. Rao, Dense elements in almost distributive lattices, *Southeast Asian Bull. Math.* 27 (2004), 1081–1088.
- [8] G.C. Rao, G.N. Rao, Stone almost distributive lattices, *Southeast Asian Bull. Math.* 27 (2003), 513–526.
- [9] U.M. Swamy, G.C. Rao, Almost distributive lattices, *J. Aust. Math. Soc.* 31 (1981), 77–91. <https://doi.org/10.1017/S1446788700018498>.
- [10] U.M. Swamy, S. Ramesh, Birkhoff center of almost distributive lattices, *Int. J. Algebra*, 3 (2009), 539–546.
- [11] U.M. Swamy, G.C. Rao, G.N. Rao, Pseudo-complementation on almost distributive lattices, *Southeast Asian Bull. Math.* 24 (2000), 95–104. <https://doi.org/10.1007/s10012-000-0095-5>.
- [12] P.V. Venkatanarasimhan, Pseudo-complements in posets, *Proc. Amer. Math. Soc.* 28 (1971), 9–17. <https://doi.org/10.1090/S0002-9939-1971-0272687-X>.